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Ba/Eco-101(N)
2021

( 1st Semester )

ECONOMICS
Paper No. : ECO-101

( Microeconomics—I )

( New Course)

( PART : A—OBJECTIVE )
(-Marks - 25 )

The figures in the margin indicate full marks for the questions

"SECTION—I
( Marks : 15)
A. Put a Tick (v) mark against the correct answer in the
| i 1x10=10
brackets provided :

branch of modern economics which focgses

i hr ideological, perspective-based, op%n.lo.n-

On’ ; ted statements towards economic activities
oriente

is known as |
(a) positive economics (

(b) normative economics ()

(c)
(d) None of t

welfare economics ( )
he above ( )

/5



(2) (3)

F
2. If an increase in the price of y causes an 5. The production function which is I
X 1
increase in the quantity demanded of x, and the homogeneous of degree one and shows conlsrtl:::
two products are substitutes, the value of cross- returns to scale when o+ =1 is called as
elasticity of demand is
(@) O ( ) (@) Cobb-Douglas production function ()
®) 1 () . .
(c) >0 ( ) (b) Leontief production function ( )
(@ <0 ) (c) CES production function ( )
3. The curve that shows how much quantity would d
be purchased at the changed price by the (d) None of the above C )
if the income effect is eliminated is .
z:ﬁ:durzscr 6. The slope of iso-quant should be equal to the
g™ Slope. .of iso-cost line: This is' the necessary
(a) indifference curve () condition of equilibrium for
(b) compensated demand curve ( )
(c) income consumption curve ( ) (@) consumer equilibrium ( )
d) None of the above
@ ) (b) producer equilibrium ( )
4. When the consumer increases the demand for o
some goods more than proportionately as his (c) market equilibrium « )
money income rises, Engel curve for such goods
will be (d) None of the above ( )
(a) upward sloping and facinde 7. When MC is more than AC,
downward ( )
(b) downwand sloping and Faneaye (a) AC rises with increase in output ()
downward ( )
(c) upward sloping and concave (b) AC falls with increase in output ()
downward ( )
with decrease in output ( )
(d) downward sloping and convex () ACfalls
downward ( ) (d) MC falls with rise in output ( )
Eco-101(N)/5
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(4) (§)

}.
8. Economies realized from paying lower }:)l"lCCS for B. Indicate Trye (T) or False (F) by putting a Tick )
the factors used in the production a.nd mark : Tue
distribution of the product due to bulk-buying
by the firm as its size increases is known as

| 1. The book, Weaith
(a) real economies ( )

of Nations was written by
Alfred Marshall.

(b) pecuniary economies ( ) e
(c) managerial economies ( )

(d) selling or marketing economies ( )

2. Indifference curves can intersect each other.
9. The concept of social welfare which involves (r/F
interpersonal comparison  of utility  is
propounded by whom?
(@) Bergson and Samuelson ( ) 3

- Returns to g factor ass

10.

(b) Hicks and Kaldor ( )

(c) Pareto ( )

(d) Robins ( )

Who argued that welfare is improved when ‘the

greatest good (is secured) for the greatest
number”?

: umes all the factors of
production as variable.

(T / F)

. Long-run average cost curve is called as the

envelope curve.

(T / F)
(@) Jeremy Bentham ( )
(b) Adam Smith () - Pareto’s welfare theory is based on ordinal
measurement.
(c) Pareto ( )

(d) Kaldor and Hicks ( )

Ba/Eco-101(N)/5

(T / F)

Ba/Eco-101(N)/8



(6)

SECTION—II
( Marks : 10 )

C. Write short notes on any five of the following : 2x5=10

1. Concept of equilibrium

Ba/Eco-101(N)/5

F

(7)

2. Basic economic problems

Ba/Eco-101(N)/5



(8) (9)

’

3. Compensated demand 4. Factor substitution

Ba/Eco-101(N)/5

Ba/Eco-101(N)/5



( 10 ) (11)

5. GNP criteria of social welfare 6. Concept of cost

Ba/Eco-101(N)/5
Ba/Eco-101(N)/5



(12) (13 )

7. Returns to scale 8. Consumer surplus

* ok ok

Ba/Eco-101(N)/5 22L—2500
Ba/Eco-101(N)/5



Full Marks : 70

Ba/E¢o- 10 1(N)
2021
( 1st Semester )
ECONOMICS
Paper No. - ECO-101
( Microeconomichl )

( New Course )

 Pass Marks : 45%

Time : 3 hours

( PART : B—DESCRIPTIVE )

( Marks : 45)

The figures in the margin indicate full marks

1, (@)

(b)

2QLI Sa

for the questions

UNIT—1

v e scarcity
Define economics. Discuss thwith iva
definition of eeonomics

9
implications.
or th
iscuss the
icity of demand Dlasticity of
Define elasfth e;’ suring price €
methods of m
demand. ( Turn Oves



@)

3. (@)

(b)

4. (a)

(b)

22L/5a

UNIT—2

(a) Discuss the Hicksian approach to

consumer equilibrium ‘in indifference
curve analysis.

Or

Discuss Engel curve analysis for
individual and group of consumers in
case of normal and inferior goods.

UNIT—3

Explain  short-run and long-run
production function. ' Discuss the
relationship between TP, AP and MP in
the short run.

Oor
Explain Cobb-Douglas production
function.
__UNr—4g
Explain the concept of cost. Why is

long-run average cost curve flatter than
short-run average cost curve? Discuss.

Or

Define eoohbmies of scale. Discuss real
and pecuniary economies of scale.

( Continued )

(b) Define

criteria for measuring soc

2
2L\2 500 1 2a

UNIT—5

Define welfare econom;cg.
scope of welfare €conomics, 9

Or

social welfare,

* %k

Explain the

Discuss the
ial welfare,

Ba/Eco-101(N)
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Ba/ECO—SOl (N)
2021
( 3rd Semester )
ECONOMICS
Paper No. : ECO-301
( Macroeconomics—I )
( New Course )

( PART : A—OBJECTIVE )
( Marks : 25)

The figures in the margin indicate full marks for the questions

A. Put a Tick (v) mark against the correct answer in the

/60

SECTION—I
( Marks : 15)

1x10=10

brackets provided :

1. National Income 1S

(a)

(b)

(d)

NDPfc + Net Factor Income from
Abroad ( )
GNPmp + Net Factor Income from
Abroad ()
NDPmp + Net Factor Income from
Abroad ( )

All of the above



2. The money value of all

. The sum

(2)

final goods and services
ting vear obtained by

produced in an accoun ¢
es is known

using the current year market pric
as

{a) nominal GNP « )
(b) real GNP (.

{c) GDP at market prices
(d) GNP at factor cost ( )

. Closed laissez-faire capitalist economy without
foreign trade is the postulate of

(a) classical economicC theory (
(b} neo-classical economic theory

(c) modern economic theory ()
(d) Keynesian economic theory

of consumption expenditure and
Keynesian theory

investment expenditure in
gives us

(a) aggregate demand ( )
(b) aggregate SUPPYY ()
(c) effective demand ( )

(d) None of the above ( )

301 (N)/60

(3)

S E"el}’ indivj
lndependenltdual consumption behaviour is not
b ehaviours of but inter-dependent of the
Ol every other individual is stated b
(@) Duesenberry () y

(b) Keynes ( )
(¢ J.B. say ()
(d) None of them ()

6. i
According to Keynesian psychological law of

consumption

(a) marginal propensity to consume is more
than one ( )

(b) marginal propensity to consume is less
than one ( )

(c) marginal propensity to consume is equal to
one ( )

(d) marginal propensity to consume is equal to
Z€ero ( )

7. The demand for money which arises in order to

meet the emergency and unexpected future
contingencies is known as

(a) transaction demand for money ( )
(b) speculative demand for money ( )
(c) precautionary demand for money ()

(d) None of the above ( )

Ba/Eco-301 (N)/60



e (5)

. B. Indica
on of saving curve (S), te True (T) or False (F) by a Tick (/)
c mark :

8. The lateral summati
bank money curve

dis-hoarding curve (DH),
(BM) and dis-investment curve

(DI) gives us 1x5=5

1. The tend
€nc
balance is Y of the people to hold idle cash

known as hoarding.

e funds ( )

« )

(a) aggregate demand of loanabl

(b) aggregate supply of loanable funds

(c) loanable funds ( ) ( T/ F)
(d) None of the abave ( ) 2 1 t}.le demand for the product is expected t
decline in future, the MEC will be low ang

9. The highest rate of return over cost expected Investment will fall.
from the marginal or additional unit of a capital
( T/ F)

asset is known as

) 3. The LM curve shows the equality of demand for

(a) marginal efficiency of capital (
money and supply of money at various

(b) prospective yield () combinations of rate of interest and income
() supply prise () e )
(d) investment ( )
4. The consumers’ tendency to move constantly
10. Increase in investment is due to increase in it;‘:;idst; higher consumption level and to
current level of income is called as e the consumption pattern of others is
ratchet effect.
(@) autonomous investment ( ) (T ) F)
(b) induced investment ( )
. I 5. Say’s law of market states that d
(c) investment multiplier ( ) itsyown supply at demand creates
(d) None of the above ( ) (T / F)

Ba/Eco-301 (N)/60 Ba/Eco-301 (N)/60



(6) (7)

SecTION—II 2 Aggregate demand fup ti
ction
( Marks : 10)

C. Write short notes on any five of the following : 2x5=10

1. Difficulties in estimation of National Income

Ba/Eco-301 (N}/60 Ba/Eco-301 (N)/60
a/l.co—



(8)
(9)

3. Demonstration effect 4
‘ Averagc and marg;i
ginal propensity to consume

Ba/Eco-301 (N)/60
Ba/Eco-301 (N)/60



(11
( 10 )

6. Induceq investment
5. Liquidity trap

Ba/Eco-301 (N)/60
Ba/Eco-301 (N)/60




(13
(12 ) 8. Factorg determim‘ng consumption function
counting
7. Green ac
ok k

22L—2300
Ba/Eco-301 (N)/60
Ba,/Eco-301 (N)/60



Ba/Eco-301 (N)

2021
( 3rd Semester )
ECONOMICS
Paper No. : ECO-301

( Macroeconomics—I )

( New Course )

Full Marks : 70 Pass Marks : 45%

Time : 3 hours

( PART : B—DESCRIPTIVE )
( Marks : 45)

The questions are of equal value

the concepts and factors determining

1. Di
e the importance of the study

national income with
of national income.

Or
: : p
Defi social accounting. DISCUSS. the BO
a:c:fnt techniqué in social accounting.
( Turn Over )

Y 60a



2.

22L /602

(2)

UNIT—2

«Supply creates its own demand.” Explain the
statement with its jimplications and criticisms.

or

Discuss the Keynesian theory of determination of
equilibrium level of income and employment.

UNIT—3

Define short-run and long-run consumption
function. Explain the factors influencing average

and marginal propensity to consume.
Or

Explain Keynes psychological law of consumption
with its implications.

UNIT—4

Define rate of interest. Explain the classical views
on interest with criticisms.

Oor

Use IS-LM framework to explain the joint
determination of the rate of interest and the level
of income.

( Continued)1,_9300/60a

(3)

UNIT—5

5. What is margj
ginal effici
factor ) ency of capital )
s affecting marginal efﬁciencl):1 of ;Ex;llaln
pital.

Or

What i i
indu:: d1§ Investment? Distinguish between
€d mnvestment and autonomous investment

* & K

Ba/ Eco-301 (N)
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Ba/Eco-501

2021
( 5th Semester )

ECONOMICS

Paper No. : ECO-501

( Indian Economy—I )

( PART : A—OBJECTIVE )

( Marks : 25 )
The figures in the margin indicate full marks for the questions

SECTION—I
( Marks : 15)

put a Tick (v) mark

e the correct answer and
1x10=10

A. Choos

against the brackets provided :

1. Population explosion means
(a) high birthrate and  high death

rate ( )

(b) high birthrate and low death rate ( )
(c) low pirthrate and high death rate ( )
(d) 1ov pirthrat€ and low death rate ()

/108



(2) (3)

. I in 5. W
(@ 1881 () : (@) Decrease and then increase ()
(b) 1981 ( ) (b) Increase and then decrease ()
(c) 1891 ) (¢) Increase ( )
(d) 1991 ) (d) Decrease ()
3. In 2011-12, which State had the highest poverty
rate in India? 6. What is National Income?
(a) Odisha ( ) (a) National product at factor cost ()
(b) Bihar () & (b) Net national value at factor cost ()
() Madhya Pradesh () 3 () Domestic value at market cost ()
(d) West Bengal ) (d) Domestic value at factor cost « )
4. In whic.h' type of unemployment the marginal 7. The National Development Council was
productivity of the worker is zero? - established in
(@) Disguised unemployment () (@) 1952 (0
(b) Involuntary unemployment ( ) () 1971 ( )
(c) Seasonal unemployment ( ) () 1950 ()
(d) Structural unemployment ( ) @ 1955 ()
Ba/Eco-501/108

Ba/Eco-501/108



(4)

. Indic
B dicate whether the following statements are

‘a was based \ . )
\dia was True (T) or False (F) by putting a Tick (/) mark :

8. The very first Five-Year Plan of Ir

on the model of the 1x5=5
(a) Mahalanobis Model ( )
1. As per the Census 2011, Na
. , galand has the
() Harrod-Domar Model ) lowest population in India.
{c) Bombay Plan () (T / F)
{d) None of the above ( )

2. Inflation is the state in which the value of

9 Sterilization by the RBI is carried through money decreases.

fa) reduction in statutory liquidity (T / F)
ratio ( )
(b) deficit financing operation ( ) =
L . 3. RBI calculates National Income of India.
{c) reduction in bank rate ( ) !
(T / F)
{d) open-market operation { )
10. Which agency has the foremost role in regulation 4. Grand Innovation Challenge was launched by
of banking sector in India? the NITI Aayog.
(@) Reserve Bank of India ( ) (F 7 &)
(b) Union Finance Commission ( )
(c) Unien Ministry of Finance ( ) 5. The Ran‘eGrupcc note bears the signature of
the overnor.
(d) Union Ministry of Commerce ( ) (T / F)
Ba/Eco-501/108

Ba/Eco-501/108



(6) (7)

SECTION—II 2 Population policy

( Marks : 10)
C. Write short notes on any five of the following : 2x5=10

1. Basic features of Indian Economy

Ba/Eco-501/108
Ba/Eco-501/108



(8) (9)

. 4. Cause
3. Inequality 8 for slow 8rowth of national income

Ba/Eco-501/108 Ba/Eco-501/108



(11)
(10)

6. GIObaIiZation
5. Objectives of planning in India

Ba/Eco-501/108
Ba/Eco-501/108



(12)

i ization
7. Disadvantages of bank nationaliza

L& 23

Ba/Eco-501/108 221—2200
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Ba/Eco-501

2021
( Sth Semester )

ECONOMICS

Paper No. : ECO-501

(Indian Economy—I )

Full Marks : 70 Pass Marks : 45%

Time : 3 hours

( PART : B—DESCRIPTIVE )
( Marks : 45)

Theﬁgures in the margin indicate full marks
for the questions

. Discuss the size and trends of population
growth in India. 9

Or

What are the major causes of migration
in India? Bring out the positive and negative
impacts of migration in India. 3+3+3=9

L/108a ( Turn Over )



2.

22L/108a

(2) |

What is anti-poverty
Explain various anti-poverty programmes
undertaken in India in recent times. 2+7=9

Oor

Explain the main causes of unemployment
in India. Suggest remedial measures to solve
this problem. S+4=9

T

What is occupational structure? Discuss

the main features of occupational structure ,
in India. 2+7=9

Or

Examine the growth performance of India’s |
national income over the past decades.

Briefly explain the powers and functions of
the NITI Aayog. 9

Or

Explain the main features of new economic
reforms in India. Discuss its impact on
the economy, 5+4=9

( Continued )

(3)

programme? |8 Examine the rationale behind nationalization

of commercial banks in India.

Or

Give a critical appraisal on the working of
the RBI for economic development of the
country.

* kK

Ba/Eco-501

221—2200/108a
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Ba/Bc/Bs/EVS-501

2021

( Sth Semester )

ENVIRONMENTAL STUDIES

Paper No. : EVS-501

Full Marks : 70 Pass Marks : 45%

Time : 3 hours

The figures in the margin indicate full marks for the questions

SECTION—A

Put a Tick ¥ mark against the correct answer in the box
provided : 1x15=15

1. The objective of Environmental Studies is

(a) to raise consciousness about environment
conditions O

(b) to teach environmentally appropriate
behaviour O

(c) to create an environmental ethic-sensitive
society O

(d) All of the above O

/103 [P.T.O.



2. The basic requirements of human beings are

provided by

fa) industnalization
{b) agnculture

{c) nature a

) urbanization

3. Earth Da‘\ 1S cclcbrated on

(@) April 22 0
b) April 21 0O
¢/ June 5 O

(d) June 21 -

(@) Greek M
(b) French
(<) Spa-nlbf 1 M

(d) English 0O

Ba/Bc/Bs/EVS-501/103

a

lhﬁ wora cu\ilO!lmCIl[ 1 dCllUCd ho"l
S

2

6. Resources which are

5. Biogas contains mainly

(@) methane O
(b) propane 0
(c) butane O

(d) carbon dioxide

referred to as

O

directly derived from nature are

(a) organic resources O
(b) natural resources O
() manmade resources O

(d) None of the above O

7. Energy from the sun is called

(a) solar energy
(b) wind energy
(c) tidal energy

(d) water energy

Ba/Bc/Bs/EVS-501/ 103

B

o

0

O

3

[P.T.O.



8. The discharge of warm/hot water directly into riverg
is known as

(@) water pollution 0
(b) thermal pollution m)
(c) marine pollution a

(d) None of the above O

Noise is measured by sound meter and the unit is
fa) hertz a

(b) joule O
(c) decibe] O
fd) second O

10. Which 8as is responsibje for the
(a) Nitrogen O
8) Carbon dioxide

global warmjng?

O
(C} N Ob]c gas D

fd) H ydrogen O

11.
ChCmobyl Disaster jg associated wip,

fa) Nuclegr accident

]
(b) landslide O
c) carthqua ke 0
d) acid rain 0
Ba/Bc/Bs/EVS—SUI/los 4

12. In which National Park, ‘lion’ is being conserved?
(a) Corbett 0O
(b) Gir O
(c) Kaziranga 0O
(d) Dudhwa O

13. Which of the following is a renewable resource?
(a) Mineral O
(b) Forest 0O
(c) Soil [m]
(d) Petroleum O

14. Greenhouse gas is
(a) nitrogen O
(b) oxygen o
(c) hydrogen O
(d) carbon dioxide a

15. UV radiation causes cancer of
(a) skin a
(b) mouth a

(c) liver 0O
(d) lung 0O
Ba/Bc/Bs/EVS-501/103 5

[PT.O.



SecTioN—B
9. Define the term ‘environment’.

lowing questions in not more than

A. Answer the fol
2"5&10

100 words each :

1. Mention the role of individual in the
conservation of natural resources.

Ba/Bc/Bs/EVS-501/1
03
6
Ba/Bc/Bs/EVS-501 /103 7 [P.T.O.



3. Define ecosystem.
4. What are the two main sources of air pollution?

Ba/Bc/Bs/EVS-501 /103
{PTO.

8
B./BC/B./EVS-SOIIIOS °



5x3=15

5. List few steps to control the population growth
any three of the following questions :

B. Answer
tidisciplinary nature of

1. Write a note on mul
environment.

. w1 710372 11 [P.T.O



2. Distinguish between renewable and
non renewable resourcea

Ba/Bc/Bs/EVS-501/103 13 | P.T.O.



3. Discuss the methods to control soil pollution.

Ba/Bc/Bs/EVS-501/103 15 [P.T.O.



4. Discuss various issues and measures for women
and child at national level.



5. Write a note on need of public awareness about
environment,

—_ e i TS A1 710A 10 [ P.T.O.



C. Answer any three of the following questions : 10%3=30

1. Discuss the role of producers, consumers and
decomposers in an ecosystem. 10

[P.T.O.
Ba/Bc/Bs/EVS-501/103 21



2. Explain the importance of forest resources,

Ba/Bc/Bs/EVS-501/103 24



3. Elaborate on the

genetic diversity,

diversity and ecosystem diversity.
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ution. What are the sources

4. Define marine poll
24444,

and effects of marine pollution? 1
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5. What is ENvVIS? Discuss about the role

of Information Technology in conserving
environment. 2+8=10
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